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Valari geometrici ;

Momerti di inerzia

b =t ()

y = 533551 cm4
Iz = G684 47 cmd
Altri

afa =50.00 Deg
iy =906 mm

iz =766 mm

o =Mv()

Az =h2i)

Fattor

Wely =46678cm3
Welz =44354cm3

Wy  =Wy()
Wz =Wz ()
Wply =Wply ()
Wplz =Wplz ()
Distanze estreme
Wy =145.0mm
Vpy =56.0mm
Wz = 200.0 mm
Vpz =200.0mm

I Genaali_l Sistema principale i Sistema centrale I Sistema arbitrario

Valor pundem{i ;

by =%33551 cmd
Iz~ = G684 47 cmd

afa =950.00 Deg

v =506 mm
iz" =T76.6mm
Ay =My ()
Azt =fz"()

Wely™ = 46678 cm3
Welz™ =448 54 cm3
WyT =Wy ()
Wzs =Wz ()
Whply™ = Wply™ (}
Whplz® =Wplz™ ()

W =149.0mm
Vpy™ =5h60mm
Vzr  =2000mm

Vpz® =2000mm

Mota di calcolo I
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